2,5, 5,7, 11,13

Prime Factors, HCFs, LCMs
Al( |~th-’63ch ira":‘-cr Ehan | can Lbe Lfacteiced

tw Eo prime £acbors

{ 24 rAK N
€ ZlE 24 = 2x2x2 x3
2 (¢ .
33 2ga = 2 x3
l
79 !
En LA 7% = 2x3 x 3
3\3‘1
13 [L3

Ex3 100 2“00
100 = 2 x2 x § x§

2 5o
s |25
gLE (06 = 2°x§ =

Write Ehese rowlery o5 o
ProM ve é- D’é' 't-L\ e l'/' ;P(‘( -~ rﬁ"""é"s

D 84 2o IS 4) 0 5) (20

Exerciie

D B¢ 2|34
2|42
3 J¢ B ~
7'*1_’1 84 = 2 x2 x71

(

B4 = 2x72 % % x4




2 ¢co Zléo

) z[30 Lo = 2% 2 « Txr
3
'y

(s
l[\_,S_: o = 2'2"3%5'
(
3) 3¢ s3s _
> AL 7 ¢ = $x7
\
Qo0 2(1°
¢> 3(&¢ A0 = 2x3x3 «S§
3[/!'
(S 1o = 2{'32{3'
(
5’) 120 rANGN _ )
Z GD l‘L” - ZKZ—"ZKZ}(S
2120 126 = zgxzxg‘
3 IIS’
c L5
\
He

H’(ﬁl\e,s'e COmimonm Fc\.chrf
Hc¥e od o ;n'\’iﬁerf A &'«AR

The
is Ehe bt nunber which Avddes b hoth

a'é {—L\ew.
L";‘EL SKLI( humLe_f( We Can o.—@{—(,\_ sa’\em'l'w(-] ‘t’kg

KC@ L‘Q iwC(oec#"a'—\
Ex( € aaA 12 HerFr =<«



2)

Z <2 (S qud 2z Hce =S
£ A and & Hee =
L\JC Caa Ule {)Y’(o—\_c —éc_!bfg ’E A‘n/’ Cler HC(
Eﬁ( é:O QV\A QQ
2o  2|ak B ~
o 155 co= @<Ox0xs
ST L = Orf)ezx2w25
A @) ®
[ LL_éf_ HecF = 2x2x %
313
Lr Hece = (2
FxL 7C awA 12F
3)7¥ ?(% 95 = 2 2O«®
s)2s (25
5%5 s)S s = Oc®x«s
:
( Hc € = S$x<
Hee = 2LC
Execcise Fiad £le Hece €
D 4R gwd 32 3) 70 aak loF
|44 «-A 9L 4) §C and B4



e 0000

yIl N 2 B
ZLE: 1z 3 T OO 0-@-2
’3)/1_ ZL% HeF = 2x2x 2x2

| hee = |6

2) 44 2JaC
2[4g _ )
L5 - 000-006-

i
= 3
Z-LL‘L "LLLIE 76 3@‘@*@.&@»’2«@
ST ZLé, Hef = 2%2xTx2 <73
L2 S[’(i HeF = a X
(
3> Hc¥¢ =198
4) HecF = 23

) OWEST CoMtMon HULTIPES L cr

Tl\C -Crl 0‘@ &\Jd I.-—\.J"Cj-c/f A ‘Lv\/( @ ('_(

éLe l°‘~'€.;'{’ nuw ber {‘C-a.(- A a..,./( < u<{( ,/(:viic Y

CKQL&I% )



6*1&.{(&! v L sh.q\( nuwmbers

D ¥ wnt (2 — Lcmn = 2«4

e
x) 10 acd 1S —> Lam 3

) 92
48/ "Ié/ @4/ Lem = g
72,

£ xescise Foh  Leks
) 45 and 6O Lerm = [go
2) 27 and §4 Len = Sq
= (9
g) C4 and YA Len (12,

) 45 10 ds L. crm7 (€D
to 1o



G4 [z ¢ 7S¢ Nz 34
9L 2 8% VBL




